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1. Introduction

At the last meeting in Beijing, it was decided that UE can have two E-RNTIs, one for dedicated AG and other for common AG [1, 2]. 
Closed loop power control can be applied to E-AGCH with dedicated E-RNTI by setting appropriate power offset to A-DPCH. On the other hand, closed loop power control cannot be applied to E-AGCH with common E-RNTI usually because multiple UEs have to be able to monitor this channel. 
Therefore, power requirement for E-AGCH with common E-RNTI is more demanding than that of dedicated E-RNTI. 
In this contribution, we evaluate power requirement of E-AGCH with common E-RNTI. Then we propose to use only 10 ms TTI for E-AGCH with common E-RNTI. This means that to remove the option of 2 ms TTI for E-AGCH with common E-RNTI as this configuration may not be necessary. 
2. Simulation
2.1 Assumptions

The link simulation assumptions are presented in Table 1.
Table 1 – Link Simulation Assumptions

	Parameters
	Values

	E-AGCH payload
	8bits

	CRC
	16bit

	Channel coding
	CC, r=1/3, 8bit tail

	Rate Matching
	36bit puncturing

	SF
	256

	TTI
	2ms, 10ms

	Power control
	Off

	Geometry
	-5dB (95% coverage)

	TxDiv
	Off

	RxDiv
	Off

	Channel estimation
	Active

	CPICH Ec/Ior
	-10dB

	SCH Ec/Ior
	-12dB

	TPC error
	0%

	Path model
	AWGN, Case1, Case2, Case3


2.2 Results
Simulation results for the common AGCH for 2ms TTI and 10ms TTI (5 times repetition of 2ms) are shown in Figures 1 and 2, respectively.  

From Figure 1, it can be seen that the performance of common AGCH with 2ms TTI can be quite severe.  For Case1 (nearly single path, 3km/hr), a BLER of 1% is achieved with nearly 30% of the Node B transmit power.  Even for path models such as Case 2 (3 paths with equal level, 3km/hr), nearly 10% of Node B transmit power is required to obtain a BLER of 1%. 

From these results, we can see that 2 ms TTI for common AGCH is not realistic for operation. To remove unnecessary combination, we propose to remove the configuration of 2 ms TTI for E-AGCH with common E-RNTI. 
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Figure 1 – Simulation results for 2ms common E-AGCH
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Figure 2 – Simulation results for common 10ms E-AGCH
3 Conclusion

In this contribution, we evaluate power requirement of E-AGCH with common E-RNTI. From these results, we can see that 2 ms TTI for common AGCH is not realistic for operation. To remove unnecessary combination, we propose to remove the configuration of 2 ms TTI for E-AGCH with common E-RNTI.
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